
�������	�
���������	
������
���������������
�������������������������������� ������
����
���!�"�
#$�������%����
���
�������������� ��&�� '����
����������� ����������
�
 !�""�#������
���#����
�������	�
���������	
������
���������������
����������������������������(&�� ������
����
���!�"�
#$�������%����
���
�������������� ��&�� '����
����������� ����������
�
 !�""�#������
���#����
'�)�������	��*
������+�(������,�-�./#����/�0���������1�23�
����	
���
�����������	
��	��

	����
�	�����	
��������	����	���	�������	����������	�
������������� ������������� �����������!���"��
������ ���������!����"� ���������	#	��$��	�	�$�����
����	
���
�����������	
��	��

	����
�	�����	
��������	����	���	�������	�#!������	�
������������� ������������� �����������!���"��
������ ���������!����"� ���������	#	��$��	�	�$�����
"	$�	���	%&�
	���	'�#	�����()*	+�%
,
-+�+.	��/	0��1�	�2� �%�����

��$

%&'
���(

�&��
�)*���

����
������

��$

��+,�
�
� �
��#!�-�
��
�������'�()*�$+��

�.�/�0(1

2�2
���/�0(1

3��

4����5�

���
�

4���
3

����
�)����

(,4�����������5��

�&��

��5�,�1�����6�

��&�

��
��

,���

������
��

��5�,�1�����6���5�,�1�����6�

(�&�

,���

,���

,�&-

,���

�)
*/

�&��

((��
�2��

����

((��

164�))�/��(7

,�)
��7��+2

�4&(8+(�&5
��9�
�����:�
.����-���

,�)
%���(((��+

8$�2&�9

�8(7�2�

�����::

(&'%

46%����/�0(1

46%��.�/�0(1 4����5�
�/��

.����92+

2�2

(�����)�%&44��58
9����
01��&�
����

,,��

,�/2

,���,�&�

����

����

).
5�

0(
1

).
5�

0(
1

)� 5� 0(1

)� 5
� 0(1

)� 5
� 0(1

56;�,%60
��7

��<���9�����:�
))�/�(����
(�)���


$�	##�
$�	�3�

�-��

�-��

����

=&4���>����?��	3���	

6�8���>����?��	3���	


�)��(�����)�%&44��58�9����
 �"#������?�
�4���$
	


�%(��5�������#����
������ �"�#������
����##@#��� �
��#A����
����(7�
�2%��*��
�5���16�'���
�� �$�	
�$�
� $�$��	�
	����	������6.����
������01��-��

$�	���
��5�,�1�����6�

=&4?6�8�,%60
%��

��<���9�����:�
��3/�(����
(�)���


����

$�	���	�#�
����

�.
��!

�3/
)�!

�3/
��!

��$/���! ��$/���! ��$/���!��$/���!��$/���!��$/�)�!

�8(7�5�5+B������,�-

56;�B�4CB���

=�4
�/�8
����

482�,0(�
��16��%

+�
��
(

�
;
+
6

&D��������
��?�(	�$�7��
��)��"��"����4CB����
� ������?���������()*�������������$�
�

2�2�E�(,4
*��:�

.���
��3
.��:�

$���
��3
)���:�
����
��$

))��:�
����
�)�

)���:�
����
���

)$��:�
����
���

).��:�
����
�)�

����	�)����

4=4

=9���F�?��
�

56;�B
�������	

�����,�

3���5�

6��������

G�1,���6(��)?����8;%�<�����������
�������"���
��=%�

�6���%2H%���+�4CB���56;�B
�$�H�5���

���
24�5+8

�5���6�
� ����
"��������"�#����
���� ���4=4����=�9��
��@�����?�#	����$��
���$��	�����'		���(8(�$�
�89:�����	��	��

�����8;-���5�,�1����-��1
9������	���$  ��$��
+�(���;�+�6

���	��	4	���	���	&�-���6�(���/&,

5�
� ����
�D#��?�5���$#$��$��	

����

�����,�

#3'���*.��

4=4

56;�B
�������	

)���
)���
�3��
�3��

�����,� =�9

�=%�?�
�������
�������	

�����,�
#3'���*.��
#3'���*.��
#33���*3��
#�#���.���

=�9

�=%�?�
�������
�������	

)���
)$��
�3��
�$��

�)� �)�

������)���� ����

)�-��
������?��		��6���%2H%�+&���)

&+,

)��*

&+,

***

��$/

))�/

�%(
�5� �� 5� �(7

����

�/��

��5��

�16�?�,0(�
�F�
6����
"���
�5�

�;
�


